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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-IV « EXAMINATION - WINTER - 2016

Subject Code: 3342201 Date: 1/7-11 -2016

Subject Name: Mine Surveying - |

Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. €2HIll SlEURL Ulclall scllol WL
Give the names of errors in dial surveying.

stuc AdBa0HL Ul Aot ot 2,

Define : Swinging of telescope

2(A8Ue] Ucatoll catvul w,

Explain Face left observation and Face right observation.

sLoll oitogetl WaAAlsaAl Aal HR(l ollegotl WSl AHsLA.
Define : Bearing

ARate{l catvaal v

Define : Traversing

HIARWMEL{l cautvall a4,

Explain Telescope normal and Telescope inverted.

(A8 uell UHIA RA[A wa (AUl Bl RA[A A A
Give the names of errors in theodolite

Q28 ul adl oclotl ottd 2.

Define : Apparent dip

AU Sluell cautvaul w.

Explain Transiting.

ASHRL UMt

Define : (1) Back sight (2) Fore sight

UL AU : (1) As A2 () SR U
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Q.2 Draw a neat sketch of miner’s dial and name its various parts.
Y2 () HISHRL stadell e visld €1 wal yel-El lolloll oltH Al

OR
(@) Differentiate between Miner’s dial and Prismatic compass.

() HISAA stAA W QBARS SUA A dslalcd M.
(b)  Differentiate between open traverse and closed traverse.
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() el MARHEL AR 6l HIARMEL AR dslad dull

OR
(b)  Explain in brief closing error.
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()  AHUat R UARAR UHA A 03

(c) Explain Double Foresight method. 04
(5)  SuA SR UBee{l A U 0¥
OR
(c) Explain any one loose needle method. 04
(5)  Slual As 45 ollsA I UMl 0¥
(d) Explain advantages and disadvantages of dial surveying. 04
(5)  stauc AdeRlell SlAEL WAl ARFLAEIM AV 0¥
OR
(d) Explain various uses of theodolite in mine surveying. 04
(s) vl ufelRl @RAScuegeall yel-oel GUAN Al 0¥
Q.3 (@ What is local attraction? How to detect local attraction? 03
Y3 () eUls wusdel 9 872 s uusyel Fcll da wuL? 03
OR
(@  Explain subsidence measurement. 03
1) oA Se 1yl wuesal. 03
(b)  Explain the Repetition method for measuring horizontal angle. 03
(@)  Yetrladet utl@ ad alae sl ductoll Adt Al 03
OR
(b)  Explain the General method for measuring horizontal angle. 03
() AMLeA Yerdld a3 8lder slel Hiucle(l Ad axesal. 03
(c) Explain temporary adjustment of theodolite. 04
(5) Ralslcgeadl uraull slscl uggtcﬂ 0¥
(c) Explain in brief adjustment of a miner’s dial. 04
(5) MR stadell oNsarll UlAcAR UMt 0¥
(d)  Write general requirements of a mine plan. 04
(S) Ml Wellotoll AHLeA 3R LA Al 0¥
OR
(d) Define the terms : (1) Latitude (2) Departure 04
(S)  HERA AR : (1) A&t (R) ual 0¥
Q4 (@  Explain the Bowditch’s method. 03
sl ¥ () UG AU utQ dHesAl. 03
OR
(@  Explain the Transit rule. 03
L) 2lodfle [ AHesal. 03
(b)  The magnetic bearing of a line was observed as S 13°20" E when the 04
magnetic

declination was 22° E. What is the true bearing of the line?

(@) AR AoAdls dscllaalet 22°F & AR Naadls AROL cllet 13°20E 0%

ecll. Al 2L UHA g AR ctete] Yeu 9§ A2

OR
(b)  Write short note on Role of Surveyor in Mining Industry. 04
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() Uotot GO Htet U0l ¢Sl BUR &5 ol cul. 0¥
(c) Draw a neat sketch of a vernier theodolite and name its various parts. 07
(s) [@AS\cusesl 2w sl 1 WA Aoll WEL-%EL AUINoll ollH AVl 09

Q.5 (@) List the steps of carry out traversing adjustment. 04

YU () HIARWEL(l olsarl Hie st YRallHl vllaldl WILARA{l el 2. 0%

(b)  Explain any one method for measuring the depth of vertical shaft. 04

@)  Gell awseol Aste iyl Mol 51e5 As Ut AHesta, 0¥

(c)  Write the precautions required in Ordinary loose-needle surveying by Miner’s 03
Dial.

(5) B SlAA glRL AHIeA (3 ollset ULl cwa AWMl weldl 03
%331 WA Al

(d)  Explain continuous azimuth method of miners dial. 03

(5) e stadell 5o Wy It unendl. 03
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